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— kmeans(x, k, nstart=5, itermax=10,
algorithm=c(“Hartigan-Wong”)
« x> T—ARtYhk
¢ k> UIRIDE
e nstart > FHIEICEH T T —2DE
e itermax > EFTEMBIZ LR
e algorithm > FE7ILTVXL

T—R2NDtvk
— X = as.matrix(iris[,1:4])
— result = kmeans(x,5)
— result
— plot(x, col=resultScluster)

R R Console e

>

> ¥ = as.matrix(iris[,1:4])

> result = kmeans (x,3)

> result

E-means clustering with 5 clusters of sizes 22, 28, 32, 40, 28

Cluster means:
Sepal.length Sepal.Width Petal.Length Petal.Width

1 4.704545 3.122727 1.41363¢6 0.2000000
2 5.242857 3.667837 1.500000 0.282142%
3 €.812500 3.100000 5.846875 2.1312500
4 6.252500 2.855000 4.815000 1.€250000
5 5.532143 2.635714 3.960714 1.2285714
Clustering vector:

1 z11122121121112222222212112221122211
[371 2212211221212144454545455554545545147F5
[73] 4 4 4444455554544455545555545534333353

[108] 3 3 44 3443333434343 34433333443334333473
[145] 3 3 4 4 3 4

Within cluster sum of squares by cluster:
[lh 3.11409%1 4.630714 18.703437 13.624750 9.745286
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* http://dev.ecstaff.net/kmeansGap.R
* http://dev.ecstaff.net/gapStat.R
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ZEMICTD

e J7AIL > TALIUMIDERE RI7AILER

FLE=Ta4L Ok

e source(“gapStat.

)
R)

* source(“kmenasGap.R”)

e x=iris[,1:4]
e kmeansGap(x)

R R Console = iEE %"
|> source ("gapStat.R") a
> source ("kmeansGap.R")
> |

L

R R Console
|> x = iris[,1:4]
> lmeansGap ()
SgapStat
number of clusters gap statistic
[1,1 1 0.08951535
[2,1 2 0.76852409
[3,1 3 1.10421658
(4,1 4 1.26398161
[5,] 5 1.30294361
[6,1 4] 1.35%270314
[7,1 7 1.40960183
SE of simulation
[1,1 0.025801%4
[2,1 0.02834601
[3,1 0.0313275%
[4,1 0.03235228
[5,1 0.03309132
[6,] 0.03124398
[7,1 0.02707984
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